? R ist Cé 40pF Al 8 2:0 A2
esistors C7 14931* Bl 19 30 A2
R1 33kQ A2 cs 265pF Bl Lio — A2
Irg G'f&g ﬁ} Co 40pF Cl L1 30 A2
Ri  eson Az Gl NeE A3 113 30 A3 FERGUSON - 3100
R5 150kQ2 Bl Ci12 suF A2 L4 35 A3
Ré 56kQ) A2 C13 0-044F A2 L15 350 B2
R7 680C2  AZ Cla 500pF A2
llg 2%}:8 2% Cl5 500pF A2 Transistors
RI10 82kQ A2 cle o 4 IRL ArUT A2
R1l 2k A2 Cl8  002«F A3 TR3  AF1I7 A3
Rz e a3 C19 350uF A3 TR¢ OC71 B3
R13 470Q) A3 G20 250pF A3 B -
Rid Ehr G2l  00IuF A3 The O6cs &
RI5 330 .
RI6 68k} B3 S22 JuE a2 TR7:  OCsl €3
R17 2700 B3 C24 100uF B3 s *
R18- - 18k B3 &35 ~ 1004F B3 Transformers
RI19 8200 B3 C3s  00luF 3 a 2600
R20 150kQ B3 $37 O0O0LLF 3 TL {b 550} B3
132 820 C3 a8 = 1 T ¢ 307 m
22 . ) .
R23 82k)  C3 €29 lopF B2
R24 47Q C3 Miscelianeous <!
R25 8:2kQ Al Coils* X1 OA79 A2 I
L1 7-25 Cl1 X2 OA90 A3
Capacitors L2 - <l s1-57 — Bl 1
Cl1 40pF Al L3 — Cl1
& o 8 2 - B =
3 p - * i ;
Ca 5,000pF A2 16 _ A2 i':‘lps}rl%z.mate d.c. resistance o'z a4
C5 0-02uF Al L7 - A2 No component.
,,,,, . Matched pair,
FZETE 4 10 58 0146 7 12160344 13 17,18,20 2t * 9 22 3 2% 26,27 25 [C)
R 1,2 3 5 4 [ 8,7 e 12 1013 14 25 18 1615 20,47 19 21 2223 24 IR
N\ ! i + — —
TRizands [N L] e J 4 7 1 Lens R 0 v
Emitte Collector R RS 2RIl R|6E o6
mitter 3 < 3 2 .._".__4 /1 4
a0 - TR4,5,6,and 7
L ] . T1
.s + Emitter Collector
i3, T2
C
Bose  Interlead £ i md
shief b
T i
13 .
'Sn1 3 TR3 [ .+C2S
<
£F <K
52
1 W ci7
: —iH 86
L 3R24 —
: i R9 C SRI2 i
\ T 18 >
Car aerial Internal iy ) 57
input aerial _ m[ ]’ _ Tape })utput "[‘ 12 1
receiver output at approximately 30mW (1V a.c.) 4,—Tune receiver to 200m (calibration mark on
CIRCUIT ALIGNMENT to prevent a.g.c. actioél. The é’f tuned cilz]cuilts scale). Feed in a 1,500kc/s signal and adjust
. i W, t i i .
Equipment Required.—An a.m. signal genera- po x;';‘ggdﬁf,’s?‘dem and m.w. adjustments should . Eér 1(1?1? ?xgé‘t igelr (13;) fs%lb I:‘nalégnmlrl;(n g\;tpgéale)‘
tor, 30 per cent modulated; an output meti:r with 1.—Switch receiver tc m.w. and rotate tuning Feed in a 600kc/s signal and adjust L8 (A2).
an_impedance of 30-40() or an a.c. voltmeter gang to minimum capacitance. Turn volume Then adjust L2 by sliding adjusting ring (D1)
with a suitable impedance (a model 8 Avometer control to maximum. Connect the signal along the ferrite rod for maximum output.
would be suitable); an aerial coupling loop; 2 generator via the 0.1uF capacitor across C2 6.—Switch to lw. and tune receiver to 1,500m
SC;L;ILF capacitor and a screwdriver-type trimming (l‘}:mij’“ refcrencchll.). 4 475K/ oral d .(ma:k on scale). Feed in a 200kc/s sigm;l and
2.—Feed in a modulate ¢/s signal an djust €9 (B1) and L1 (B1) for maximum out-
. Alignment Notes.—If a 30-40Q output meter ““,gjust 113 (A3), L12, L1L (A3), L10 and L9 Al o PRttt S i P A
is used it should be connected in place of the (A2) in that order for maximum output. ferrite rod
speaker speech coil L1§ but if an a.c. voltmeter Repeat until no further improvement can be :
is used as an output indicator, the speech coil obtained.

should remain in circuit with the voltmeter con- 3 niceonnact the signal generator from the
nected across it. receiver and connect its output leads directly

The signal generator output should be adjusted across the coupling 1 Pla he 1
! e ac g loop. ce the loop so
throughout alignment so as to maintain the that it is loosely coupled to the ferrite rod
aerial,
. Tuning Left: Scale drive
I8 control

assembly as seen with

the chassis inverted

and the drive turned

to the Lf. ends of
the scales

/| Tensionspring
e NN
A’T°P edge of front panel~y




